—

A

l@e@m&ﬂ (eds. 12-5-12 | Clhss Nrte)

/Z-I'QCA&S = I‘Vb"*(' 1 d

: 5‘«-./9—- ,(21’#
WARE or {WM' Z"/Z# T;r-
| P+ YAS .







A de ’7@@} — _7_7_/2(‘
& 3/@/3, e 2
%c/eg e _’ch/j
& 15@4’36 Z
‘{a
@ [mc_l - ‘?F:Z = % eXACT

< 59.2957785)...

F fad
o
/1\ C:-Q?ff
= {
i ) a7 cad _ g0
W | 305° /oYy
Tog



377 red
© . Z;:‘L L_i__

A 270’
© %Mﬁ




— e — N

Gﬂ‘ \j”;}) \/“1/} IMOJFM Polderw
ﬂvoluwl /&xz’ +hr +C
= N
(x+3)x+3)

NS f
XEh3r 35+ 9 = O
A X +9
y o/

CX L3 )"‘ =(x+5 Jxr3)=0

¥ =1-335
Xz=§-3¢

PST (a+b) = @teb +b°
BT (a-b)" = ab-zab+b =

@ Q(A—LI)Z = T HEx+ /(j) = O
o= | bZ-da c , \ &I J _
e (81%4U) @) =\p =2 Q< v 4)(xry) =0

S U R Ul ST

oNe Tecl fetiore|
Solvtie/




C
,-}.r
by

» .

O ©

S )

.
W

(X

4,

X

{

Yo

d
0
36
34
9
C';

O
g‘ -

L

OX +

yA

_4.

X

O
)=

5
) (2x+

g

o

=54 |
=




(@) Ly & +20¥ +9£ 0

\ v/
85 (2x + 5)(zws]=0
5""‘ _§
(gw?)é“) ~ g{g
(=) -
2y =Y = o
> X ,,
gﬂg gy t—lzx +d = 0

>( = 25 Q
PS @+b C% (a+b cF¥zaf + ./
i & L) -—'CQ“'b CQ-(;) a 2_2. +b%

et




¢ = eFFC(;T” L ﬁ%'&ra Mé
N\P’s\’(/
55:/@#& Z_ Fea, m.«'l'lf@)a
) So lJ"!W\)J

ffd Y [ f(a../ /\a-Aw,ﬁ--/ _{o/wf/a)

(?(” [(C/ vhle root "
/7 ﬁ,

7 a0ty
/W e/fﬁm/)%wi g

.ar--"“"w

jﬁﬁ*{' (J%ou Jxau/cl Jéw’ﬂJ’ /&Kal/'fz']
rf/e D;SC(:Mm/ﬁvﬂL s _Ag/«

e













/o

£ * oK
Hy = +lox +25 =0

Sum =) b=10
Y)moﬁ‘u—:} 100 |, (o0
-/ \ 2, $0

@ Ny def
Q":_"'( Z - g}ao
L= (0 f z_qab (0//0
10
T )& -y (4)GS)
|00 =400 = '—*300'-‘-’3
* o peaL SouTins.

S iiarg,o o,

3¢
/
) Mﬁjl‘c /\/um/xrf C/o ,ua”'L EXNST
d /S Neéﬂ"{/vee



